Math Numbers and Operations 3_1

Student Name: Date:

How many parts in all? )
How many parts in all?

A 2
B.7 B. 1
C. 4
3 4,
Sandy eats % of a sandwich.
Josh eats % of a sandwich.
Which value is least?
Cathy eats % of a sandwich.
Who eats the most?
A. % A. Cathy
5 % B. Sandy
1 C. Josh
C. %
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Which is here?

1_3 1_2 1_4

< o O

| ol o«

< o O



How much is 2 squares of this candy

bar?

8
A. T

2
B. T

4
C. =5
1.

16
A. T

6
B. 5

5
C. 55
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Which is here?
1
A'T
B. +
C. +
12.
1 & 3 4
4 4 4
AEEREEEER
12 3 45 6 7 8
8 8 8 8 8 8 8 8
Which is here?
A.
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What part are O ?

A 3
B. =
C. +
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14.

4
7_1
. <
B. >
C. =
16.
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1 2 3
0 3 33{}1
Which is here?
1
A.g
4
B.g
c. 2




